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140,000
103,000
103,000
103,000
103,000
181,200

250,000

H

151,000
30,200
181,200
151,000
30,200
181,200
181,200
151,000
30,200
103,000
30,900
72,100
103,000
30,900
72,100
103,000
103,000
30,900
72,100
60,000
60,000
60,000
60,000
124,920
69,400

Al

Iy

Al

iy

Al

H

Al

i

iy

16,656
38,864
124,920
69,400

Al

i

16,656
38,864

124,920

Iy

- HyS

- SRA(3) - HIRAEY

S - B

307 212t01&

=
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=01

F

~J
ol

402
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=
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(01X TH

Xl

s
t

M=Kl s&HEM0
O=Z THHH

14 J|1Et
14 JIEt

|
[y

307 212t01d

144,000 /19,080

124,920

Al
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B =0l AW Ust U WY =9 84
el sdt2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 69,400
=S 16,656
Al 38,864
fol AHIEE X3 70,000 92,000 A22,000
< 21,000
Al 49,000
307 lztol & 70,000 92,000 22,000
= 21,000
Al 49,000
02 2B YA E X 70,000 92,000 /22,000
O=cld aHIEX X2 70,000
= 21,000
Al 49,000
ENEM X2 651,267 638,569 12,698
= 429,835
= 110,716
Al 110,716
301 EtE2 NS 651,267 0 651,267
= 429,835
= 110,716
Al 110,716
14 DBt 23 651,267 0 651,267
OEZHEH N 651,267
= 429,835
< 110,716
Al 110,716
SIIZHE X3 (HEALY) 1,116,232 1,116,232 0
301 EtE N = 1,116,232 0 1,116,232
4Bt 2 a3 1,116,232 0 1,116,232
O=JI1Zdlg X& 1,116,232
I 28dlE XM XI& 569,000 577,200 8,200
201 fer=3| 10,200 5,000 5,200
01 AtR2t2|H] 10,200 5,000 5,200
O=JIZ2tlz SEZA 10,200
301 2eEN=S 348,800 348,800
4 JIEt2d= 348,800 348,800
OSKIIZHIZE XMl X2 348,800
307 elztol & 210,000 210,000
02 2B YAIHE X 210,000 210,000
OXtd =2t sl EHl A& 210,000
SHASEHAE 8,200,000 8,200,000 0
301 EtE NS 8,200,000 8,200,000
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FA S
M o AWM Us Y W =9 84
e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,085,600
Al 3,128,400
14 IIEt2 8= 5,214,000 5,053,800 160,200
Ostl s9+4 5,214,000
= 2,085,600
Al 3,128,400
28 SYMEM 25,060,000 24,761,000 299,000
Il 25,060,000
301 EtE NS 25,060,000 24,761,000 299,000
Jl 25,060,000
14 0Bt 2a s 25,060,000 24,761,000 299,000
OJlEd SAX=SAE 25,060,000
Jl 25,060,000
Jl2d SAMSH(HEZHI) 76,510 78,000 1,490
Il 76,510
101 @124H| 53,510 57,500 23,990
Jl 53,510
M ORNZZ2NSE S 53,510 57,500 23,990
OJ128 SAASAI(212AH]) 53,510
Jl 53,510
201 et 3| 23,000 20,500 2,500
Jl 23,000
01 At2teltl 23,000 20,500 2,500
OJ=8 SARSAS (HEZH]) 23,000
) 23,000
HENENEM 5,024,000 3,031,885 1,992,115
Jl 5,024,000
301 22N = 5,024,000 3,031,885 1,992,115
7l 5,024,000
14 DBt 23 5,024,000 3,031,885 1,992,115
OdsxXENEM 5,024,000
) 5,024,000
228 A=A 1,596,900 983,762 613,138
Il 798,450
< 239,535
Al 558,915
301 EtE NS 1,596,900 983,762 613,138
Il 798,450
== 239,535
Al 558,915
4 JIE2 8= 1,596,900 983,762 613,138
OZ22d XA 1,596,900




FA S
M o AWM Us Y W =9 84
e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 798,450
=S 239,535
Al 558,915
J22d HEM(<HI) 5,400 323,358 A317,958
< 1,620
Al 3,780
301 EtE NS 5,400 323,358 A317,958
= 1,620
Al 3,780
14 DBt 23 5,400 323,358 A317,958
OZ2A2d MEAH(ZHI) 5,400
= 1,620
Al 3,780
=g A=A 1,047,000 1,047,000 0
== 1,047,000
301 EtE N = 1,047,000 1,047,000 0
= 1,047,000
14 JIEt2 8= 1,047,000 1,047,000 0
=g MEMY 1,047,000
= 1,047,000
g2 M= 40,900 57,000 /16,100
& 19,510
Al 21,390
202 04l 4,700 5,600 A900
S 1,410
Al 3,290
01 =LHA LI 4,700 5,600 A900
OEsd ASAY g2 4,700
= 1,410
Al 3,290
301 EetE NS 36,200 51,400 15,200
== 18,100
Al 18,100
14 J|EI2 43 36,200 51,400 /15,200
Ogsd A=A 36,200
< 18,100
Al 18,100
B A2 =3td XA 44,800 0 44,800
402 2I2F X201 & 44,800 44,800
01 QI X2 AL E R (KEHITH) 44,800 44,800
Ol A2 =31E X2 A 44,800
o B Lot A OEYAAMY 11,236,986 9,954,506 1,282,480
= 965,730




FA S
B S0 QM A5 U YA
Chol: EpH (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 8,000
Jl 2,607,332
= 1,841,105
Al 5,814,819
EAgELES 6,505,671 5,304,184 1,201,487
= 8,000
7l 2,554,565
= 960,570
Al 2,982,536
=R 4,200 4,200 0
201 fer=3| 1,400 2,000 2600
01 At 22|l 1,400 2,000 A600
Ot - 25 - d3sJt S 2el 1,400
202 04| 2,800 2,200 600
01 2LHoIH 2,800 2,200 600
O= - 25 - YBEI} S 22 2,800
TANSEMS ALelXIME K& 441,873 436,338 5,535
Il 147,291
< 49,097
Al 245,485
301 EtE NS 441,873 436,338 5,535
Il 147,291
== 49,097
Al 245,485
14 JIEt2 8= 441,873 436,338 5,535
OXAZ AtelXl ME2SH X2 (Lerct
Xl) 441,873
Il 147,291
== 49,097
Al 245,485
H2HA L E ArZelNME X 1,159,914 1,501,783 A341,869
Il 644,397
s 128,879
Al 386,638
301 EtE NS 1,159,914 1,501,783 341,869
7l 644,397
= 128,879
Al 386,638
14 0Bt 243 1,159,914 1,501,783 A341,869
OZXAIE AtelXl ME28H X (d2d
X) 1,159,914
Jl 644,397
= 128,879
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B S0 QM A5 U YA
Chol: EpH (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 386,638
TAE H2EHX S=H K& 646,292 323,415 322,877
Jl 359,051
= 71,810
Al 215,431
301 EtE NS 646,292 323,415 322,877
Jl 369,051
= 71,810
Al 215,431
14 DBt 23 646,292 323,415 322,877
OZX Atz d2HX SESS MZdl XA 646,292
) 369,051
< 71,810
Al 215,431
HEHAELEE &8 X2 418,800 744,872 A326,072
Il 209,400
Al 209,400
402 2I2FX=01 & 418,800 744,872 N326,072
Jl 209,400
Al 209,400
03 2I2+LAEAISHI 418,800 744,872 A\326,072
OXAZH2EX EHIXIA 418,800
Jl 209,400
Al 209,400
INSHME SH2Y X2 16,838 11,130 5,708
Jl 16,838
402 2I2FXH=201H 16,838 11,130 5,708
Jl 16,838
03 2IZ+RAETAIS I 16,838 11,130 5,708
OXAZ THEHE BAF RIS (LEHEXT) 16,838
Jl 16,838
HEHELEE S K& 70,290 57,728 12,562
Jl 70,290
402 2I2E X201 & 70,290 57,728 12,562
Jl 70,290
03 2IZ+RAETAIZ I 70,290 57,728 12,562
OXAME H2HI 248 s+ X 70,290
Jl 70,290
A SE2ACXZ 24,262 29,476 N5,214
Il 12,131
Al 12,131
101 @1A4H| 23,262 28,000 N4, 738
Jl 11,631
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B S0 QM A5 U YA
o9l 4SS EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 11,631
04 JIZtNZ22 XS 2+ 23,262 28,000 N4,738
OZX Atz SESSZAL 212H| 23,262
Il 11,631
Al 11,631
201 2egh=3| 1,000 1,476 VAVY(S
Jl 500
Al 500
01 At2teltl 1,000 1,476 Yavi¥(¢
OzxAE SESSS A ALR2tl] 1,000
Jl 500
Al 500
TAE HED|EH B E 129,244 175,060 N45,816
s 28,273
Al 100,971
301 22N = 106,744 135,060 N\28,316
& 21,523
Al 85,221
14 JIEt2d= 106,744 135,060 28,316
OZxAlz datdd=s X 71,744
= 21,523
Al 50,221
OZXAtz 274l NEFAIS 35,000
402 2I2F X201 & 22,500 40,000 217,500
== 6.750
Al 15,750
02 RIINEASEZ(0IETHR) 22,500 40,000 A17,500
OAtE XPJtEigr ZHIXIE At 22,500
< 6,750
Al 15,750
=M AleZEerd X 32,884 0 32,884
= 9,865
Al 23,019
307 gl2to| & 32,884 0 32,884
=S 9.865
Al 23,019
02 QB AANEE R 32,884 0 32,884
OF8tsIt 2B S AHE XS 32,884
< 9,865
Al 23,019
SE0H S K 4,000 4,000 0
Jl 2,000
Al 2,000




A sS4
B S0 QM A5 U YA
o9l 4SS (el ®9)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 4,000 4,000 0
| 2,000
Al 2,000
02 QIZHBAAIE E X 4,000 4,000 0
O&s0F 2H2s XA 4,000
J| 2,000
Al 2,000
SISO 194,740 181,300 13,440
| 83,610
& 27,730
Al 83,400
307 212+01™ 194,740 181,300 13,440
| 83,610
& 27,730
Al 83,400
05 QIZIRIEr S 194,740 181,300 13,440
Ostd S0HME K& 194,740
J| 83,610
= 27,730
Al 83,400
RAESOHHAH2E XA 22,000 16,000 6,000
J| 11,000
Al 11,000
307 212+01™ 22,000 16,000 6,000
| 11,000
Al 11,000
02 QIZHA A AL E X 22,000 16,000 6,000
OsA2ES0IE 29X 22,000
| 11,000
Al 11,000
SasI S AEXA 230,900 268,600 A37,700
& 75,520
Al 155,380
301 LPENSZ 2,400 1,600 800
& 720
Al 1,680
14 J|Et2 A2 2,400 1,600 800
OFsd F4tZ e1Ed| XA 2,400
& 720
Al 1,680
307 212+01 A 62,500 62,500 0
T 25,000
Al 37,500




FA S
B S0 QM A5 U YA
ool EMHE (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 62,500 62,500 0
OJI=Mol2s sRg3 XS (=]
ZERH) 62,500
= 25,000
Al 37,500
402 2I2F X201 & 166,000 204,500 38,500
== 49,800
Al 116,200
02 QI EASEX(0IETHR) 146,000 180,000 234,000
OF4t JIXN XI&AHS 12,000
< 3,600
Al 8,400
O=ttle SZEY N3AY 5,000
= 1,500
Al 3,500
O=gUHl Jt=AIEEE e 48,000
== 14,400
Al 33,600
OLZE 2SI XN&H 45,000
= 13,500
Al 31,500
OZGAEdA2SNAIA 16,000
= 4,800
Al 11,200
OIS A2 e X~ 14,000
< 4,200
Al 9,800
OSE+ENEEHHIXZ 6,000
= 1,800
Al 4,200
03 2IZ+2AEAIHHI 20,000 24,500 4,500
OetRALFHSHTINEAIS 12,000
== 3,600
Al 8,400
ONsELAZZEALIR 8,000
= 2,400
Al 5,600
&t FIAF B0l AAF NIZA (HEAY) 3,600 3,000 600
= 1,080
Al 2,520
307 @120l & 3,600 3,000 600
== 1,080
Al 2,520
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FA S
B S0 QM A5 U YA
ool EMHE (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 190,845
Al 445,305
307 elztol & 1,331,750 930,000 401,750
Jl 787,050
< 131,175
Al 413,525
05 2IIRIE =3 1,331,750 930,000 401,750
Ot uR7 SAAY 1,311,750
Jl 787,050
== 131,175
Al 393,525
OstnRF SAAL(FIUHHHH) 20,000
SENESEMASAIE (ST BR =) (M e 27,000 27,000 0
Ae)
S 22,500
Al 4,500
402 2I2F X201 & 27,000 27,000 0
== 22,500
Al 4,500
02 RIINEASEZ(0IETHR) 27,000 27,000 0
Ozl et B[ M| B E ALY 27,000
== 22,500
Al 4,500
SENY S X2 (SASTHATAIA) (M EA 12,800 57,600 144,800
2)
= 8,000
Al 4,800
402 2I2F X201 & 12,800 57,600 A\44,800
[ 8,000
Al 4,800
02 I EASEZ(0IETHR) 12,800 57,600 A44,800
OFAtEH SHEAIAY K& 12,800
= 8,000
Al 4,800
ICT 858 XA(E2x) 2,200 0 2,200
Jl 22,200
402 2I2E X201 & 22,200 0 22,200
Jl 22,200
02 QI X2 AL E R (01X THE) 22,200 0 22,200
OICT 83 SAXIE 22,200
Il 22,200
FE2E SRS XN (HEAY) 14,000 14,000 0
= 10,000




SN SRS
B S0 QM A5 U YA
Chol: EpH (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,000
402 2I2FX=01 & 14,000 14,000 0
=S 10,000
Al 4,000
02 RIINEASEZ(0IETHR) 14,000 14,000 0
OR82E IHE3RsE X 14,000
< 10,000
Al 4,000
SME2E AR A 115,380 115,540 A160
402 QI”FX+=201 & 115,380 115,540 A160
01 QI X2 AL E A (KEHITHE) 115,380 115,540 A160
OXr&zt AEH| &ZHY| X2 19,180
O=4=2L EHIS HE(SY, 2H) X 96,200
SO O ALS 280,000 0 280,000
Jl 140,000
= 70,000
Al 70,000
402 2IZtA=01d 280,000 0 280,000
Jl 140,000
= 70,000
Al 70,000
02 QI A2 AL EE(0IHTHE) 280,000 0 280,000
O=Fate e X2 280,000
) 140,000
< 70,000
Al 70,000
JIEER &9y X 76,000 24,000 52,000
Il 18,000
< 9,000
Al 49,000
307 glztol & 76,000 24,000 52,000
Il 18,000
== 9,000
Al 49,000
02 B AAHE L 76,000 24,000 52,000
OJt=2= 0IE=4| X2 36,000
Jl 18,000
=S 9,000
Al 9,000
OJIE&5% 0I18FX| XIJA(FIHAMIHE) 40,000
AHZZICTOIAEHIE XX Z 20,000 0 20,000
Jl 10,000
== 5,000




A sS4
B S0 QM A5 U YA
Chol: EpH (Hol: &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 5,000
405 XHebE S| 20,000 0 20,000
| 10,000
& 5,000
Al 5,000
01 XML =ZFSHI 20,000 0 20,000
OYH=EF ICTOIAHEEl X 20,000
J| 10,000
= 5,000
Al 5,000
AFHZ POH=RAIE K& 28,000 27,590 410
& 8,400
Al 19,600
402 QIZE X201 A 28,000 27,590 410
T 8,400
Al 19,600
02 QIZIXEAMEEAE(OIMTHE) 28,000 27,590 410
OLAFHM2Z CHHZRAIE XA 28,000
= 8,400
Al 19,600
EH| YSEX XJAAS 15,000 30,000 215,000
& 4,500
Al 10,500
307 212+01 ™ 15,000 30,000 A 15,000
& 4,500
Al 10,500
02 QIZHAAAIHE X 15,000 30,000 A 15,000
O&Hl Z&=& XJA Y 15,000
& 4,500
Al 10,500
SFMEE A (KH2EHD) 16,000 15,930 70
T 4,800
Al 11,200
307 212+01 A 16,000 15,930 70
& 4,800
Al 11,200
02 QIZtBAAIHE R 16,000 15,930 70
OF4tatd A (KH2ZHHI) 16,000
T 4,800
Al 11,200
HHIHEE DESHK HHAL 10,500 21,000 210,500
= 3,150
Al 7,350




A sS4
B S0 QM A5 U YA
o9l 4SS EER-E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
402 QI2ERH=0I1 N 10,500 21,000 210,500
& 3,150
Al 7,350
02 QIZEXH2 AL 2 (01 TH &) 10,500 21,000 210,500
OMUHIMEE DEHE X MHAIS (ZY]) 7,000
& 2,100
Al 4,900
OYHIMEE D=EX HHAMGE(XE) 3,500
= 1,050
Al 2,450
EAL 5 Hel - 22l X 252,000 67,200 184,800
& 75,600
Al 176,400
307 QI2Hol M 252,000 67,200 184,800
& 75,600
Al 176,400
02 QIZHEAAIHE X 252,000 67,200 184,800
O=A 2 Xl - 2el XA 252,000
& 75,600
Al 176,400
HSME> 32l K& 23,180 7,500 15,680
& 6,954
Al 16,226
307 212+01 A 3,180 7,500 A4,320
& 954
Al 2,226
02 QIRHHAAIHE X 3,180 7,500 A4,320
OZsAd A= K& 3,180
& 954
Al 2,226
402 QI+ Rt=01H 20,000 0 20,000
= 6,000
Al 14,000
02 QI2EXHE AL B (01 & THE) 20,000 0 20,000
OXFME= Zatdel X3 20,000
& 6,000
Al 14,000
Sgdze] 3,083,562 2,943,722 139,840
= 891,680
| 52,767
= 734,832
Al 1,404,283
gz & 929,492 930,588 A1,09%6




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 449,081
=S 108,349
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= 417,281
= 97,749
Al 350,862

01 M=4l 865,892 866,988 1,096
OJt=g9etE Fatl 865,892
= 417,281
= 97,749
Al 350,862

307 gl2to| & 63,600 63,600 0
= 31,800
= 10,600
Al 21,200

02 2B YAIHE X 63,600 63,600 0
OHX WD sHal X2 63,600
= 31,800
< 10,600
Al 21,200

JEEA XI3AAS 248,148 310,167 262,019
= 152,184
< 30,335
Al 65,629

206 M=l 49,928 53,367 A3,439
= 32,918
== 5,494
Al 11,516

01 MHZHI 49,928 53,367 A3,439
OT7H A XS (ATRL) 39,368
= 27,638
=S 3,910
Al 7,820
OF MY HAZSAEY A 23HH 10,560
= 5,280
= 1,584
Al 3,696

301 2= 82,720 65,500 17,220
= 38,416
= 13,291
Al 31,013

14 0Bt 2a3 82,720 65,500 17,220
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= 4,416
== 3,091
Al 7,213
307 lztol & 115,500 191,300 AT75,800
= 80,850
== 11,550
Al 23,100
02 LB HANHEE 115,500 191,300 AT75,800
OFNS Al Mds XIS 115,500
= 80,850
=S 11,550
Al 23,100
& B4ty & 29E HE 13,050 13,000 50
= 3,915
S 2,610
Al 6,525
301 EetE NS 13,050 13,000 50
= 3,915
= 2,610
Al 6,525
14 JIEt 2 a3 13,050 13,000 50
A ZE Y BSR4t AR HEH] 13,050
= 3,915
= 2,610
Al 6.525
S4ts0 goiTmet 4X| NZAY 40,000 132,250 292,250
) 20,000
= 6,000
Al 14,000
402 2I”F X201 & 40,000 132,250 A92,250
Jl 20,000
[ 6,000
Al 14,000
02 QI X2 AL EE (01X THE) 40,000 132,250 A92,250
OF4t=sTH ggelzet XX 40,000
Il 20,000
== 6,000
Al 14,000
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301 EtE NS 65,534 60,292 5,242
Il 32,767
= 9,830
Al 22,937
14 DBt 2 a=S 65,534 60,292 5,242
OssgHN 28 Xd 65,534
) 32,767
& 9,830
Al 22,937
HAUE)| SSYMH N 16,000 16,000 0
= 8,000
< 2,400
Al 5,600
307 glztol & 16,000 16,000 0
= 8,000
== 2,400
Al 5,600
02 LB HANHEE 16,000 16,000 0
OHAED| SSEH XA 16,000
= 8,000
=S 2,400
Al 5,600
Al AIZIHFEl XA 2,640 14,400 A11,760
= 1,320
=S 3%
Al 924
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= 1,320
= 3%
Al 924
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= 1,320
= 3%
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= 15,000
Al 15,000
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OsHz=A 28 ¥ A=Y 2SAE (2
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= 10,000
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= 3,600
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OJI=sdgd 2ELAAMY 12,000
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TR AAILAHAH 2= 59,070 63,060 23,990
= 17,993
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= 14,673
Al 34,237
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OFHS 2gga] 40,000
& 12,000
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OFRHS Al AEHA 243HH K& 8,910
& 2,673
Al 6,237
301 LEHBNEF 2,000 2,600 A600
= 600
Al 1,400
14 JIEt2 43 2,000 2,600 AB00
OFMAHHLA(HLEE A=l XH) 2,000
& 600
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307 QI2Hol M 8,160 10,200 22,040
= 2,720
Al 5,440
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& 1,259
Al 2,937
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= 4,412
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[ 9,000
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| Al 1,008
SetsIt AESYFAE K 35,000 0 35,000
== 10,500
Al 24,500
402 212 X201 & 35,000 0 35,000
< 10,500
Al 24,500
02 QI X2 AL EE (01X THE) 35,000 0 35,000
OF4sIH MHEgYAlE X 35,000
= 10,500
Al 24,500
IEHEY 2SS 838l Xd 4,000 0 4,000
=S 1,200
Al 2,800
307 21201 & 4,000 0 4,000
< 1,200
Al 2,800
02 2B HAHE L 4,000 0 4,000
OJ=dgd 285 8584l N 4,000
= 1,200
Al 2,800
SOHAL HAIE =RESM X2 9,360 0 9,360
= 2,800
Al 6,560
206 M=l 9,360 0 9,360
s 2,800
Al 6,560
01 M= HI 9,360 0 9,360
OS0HA HIAt0E =FHSIM XIS 9,360
[ 2,800
Al 6,560
st agael N2 4,800 0 4,800
= 2,400
& 720
Al 1,680
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Al 1,680
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OgssJt 282l X# 4,800
= 2,400
= 720
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S99 C2 MAASE SXJA(HEAIY) 36,000 40,000 24,000
& 7,500
Al 28,500
301 LPENF 36,000 40,000 A4,000
T 7,500
Al 28,500
14 J|Et2 &2 36,000 40,000 24,000
O=sd8 E2 dEAHESE s4XId 36,000
T 7,500
Al 28,500
SIH SSHEX XA 17,000 9,500 7,500
= 6,800
& 3,060
Al 7,140
206 =4l 17,000 9,500 7,500




FA sEXE D
3N =& U8s4
Cel: SIIAXA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 6,800
=S 3,060
Al 7,140
01 M=4l 17,000 9,500 7,500
OsIIH SHEX FAXZ A 17,000
= 6.800
= 3,060
Al 7,140
SIAHXNZAMS 134,000 134,000 0
== 38,700
Al 95,300
202 04| 5,000 5,000
01 =LHO LI 5,000 5,000
SIAHXNA g2 5,000
307 elzto| & 129,000 129,000 0
= 38,700
Al 90,300
02 2B YAIHE £ 129,000 129,000 0
O=J1H S8EE X3 (2HIAEXR) 129,000
= 38,700
Al 90,300
S48 SIIH B=XE 274,000 172,000 102,000
402 2I2E X201 & 274,000 172,000 102,000
01 QI XH2AILE X (KM THE) 274,000 172,000 102,000
O=Zag sI1H XNZAY 274,000
st FatE Tf0] X3 At 162,000 162,000
402 2I2F X201 & 162,000 162,000
01 QI X2 AL E A (KHHITHR) 162,000 162,000
Ostt= R4t TD| XIE A 162,000
s&Y U XA 283,800 213,426 70,374
=S 85,140
Al 198,660
402 2I2F X201 & 283,800 213,426 70,374
< 85,140
Al 198,660
02 QI TH2AILEE (01X THE) 283,800 213,426 70,374
OsJIAH &t &yl K& 283,800
& 85,140
Al 198,660
SO ¢ us X 12,000 10,200 1,800
= 6,000
& 1,800




FA sEXE D
3N =& U8s4
&elr SIIAHXZ (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,200
201 er23y| 6,000 5,000 1,000
= 3,000
= 900
Al 2,100
01 At2teltl 6,000 5,000 1,000
Os2IIH s X3 6,000
= 3,000
S 900
Al 2,100
202 04l 1,500 1,200 300
= 750
< 225
Al 525
01 SLHoIH 1,500 1,200 300
OsgIH ¢dus X3 1,500
= 750
S 225
Al 525
301 EtE NS 4,500 4,000 500
= 2,250
== 675
Al 1,575
14 JIEt2d = 4,500 4,000 500
OsgIIH 2= X3 4,500
= 2,250
=S 675
Al 1,575
SIIAE BAS I XA 203,340 652,164 A448,824
< 61,002
Al 142,338
301 EtE NS 203,340 652,164 A\448,824
= 61,002
Al 142,338
14 DBt 2 a=S 203,340 652,164 A\448,824
OsgE HAlm ISR 203,340
= 61,002
Al 142,338
S0 otddd HEHe XNH 6,000 0 6,000
= 3,000
Al 3,000
201 2egh=3| 6,000 0 6,000
= 3,000




FA sEXE D
3N =& U8s4
Cel: SIIAXA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 3,000
01 AtR2t2|HI 6,000 0 6,000
O=geol oA AU K& 6,000
= 3,000
Al 3,000
HsHE N 328,320 528,000 199,680
= 40,000
=S 48,000
Al 240,320
HAsAHE 82 =4 32,600 0 32,600
101 ©1AH| 27,600 27,600
M ORNZZ2NSE S 27,600 27,600
OAsHE 20 22X 27,600
202 04l 5,000 5,000
01 SLHoIH 5,000 5,000
OFIs7E g2F8 U0l 5,000
s sA E FHexts NH 10,000 10,000 0
301 EtE N = 10,000 10,000
14 DBt 2 a3 10,000 10,000
OA= extg K& 10,000
ARsgel JIZEs)Isls 20,000 20,000 0
= 10,000
Al 10,000
201 =3 15,000 15,000 0
= 7,500
Al 7,500
01 At2tltl 15,000 15,000 0
OAsAHELS 15,000
= 7,500
Al 7,500
301 LEetE2 N = 5,000 5,000 0
= 2,500
Al 2,500
11 AALAHIXIES 5,000 5,000 0
OAsHELS NE= 5,000
= 2,500
Al 2,500
Sl HEASHS 60,000 60,000 0
= 30,000
Al 30,000
301 LEtE N = 60,000 60,000 0
= 30,000
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2A:

3N =& U8s4
el AsHE NE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 16,010
Al 16,010
01 At2tltl 10,000 0 10,000
OFIs7HE 2= A& 10,000
= 5,000
Al 5,000
03 A= I 22,020 0 22,020
OEAQ ns ¢ &g 5,850
s 2,925
Al 2,925
OFAsAHEL DL XS0 ENots AdBU= 12,250
& 6,125
Al 6.125
OHs Megstu =29 3,920
= 1,960
Al 1,960
202 04| 2,600 0 2,600
< 1,300
Al 1,300
01 =LHO LI 2,600 0 2,600
OAsHE 243 H2FA =U0iHI 2,600
= 1,300
Al 1,300
301 EtE N = 5,880 0 5,880
= 2,940
Al 2,940
11 #AIAHIXIE S 5,880 0 5,880
OFAY Ws & o8 £ HE &Y 1,800
== 900
Al 900
OF=s Mgstu &R Al 4,080
= 2,040
Al 2,040
307 el2to| & 23,100 96,000 AT72,900
= 11,550
Al 11,550
02 QItEHAEE X 23,100 96,000 AT72,900
OFsHEELS NS (HEAY) 23,100
== 11,550
Al 11,550
HY2HZHI(SEXNAL) 65,690 65,690
[=23HI(SEXA1) 65,690 65,690
Jl2ZH(sEXE L) 65,690 65,690 0
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M =28
3 sI=MHeE
Hel: A0 JIsESMY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 60,000 64,000 24,000
Ostgd=Sa2HHH S52= 36,000
OlstdsSa=24uE &8t FAl2c 24,000
405 AtatE = 4,000 4,000
01 TR ESFISHI 4,000 4,000
OltstdsESe2 A e 2| HIAAR
J =g 4,000
s|sdH SE24ds 249 N (Z2Y)(H2Ed) 26,400 29,000 22,600
= 6,600
Al 19,800
202 04l 2,400 0 2,400
= 600
Al 1,800
01 =LHOHI 2,400 0 2,400
OEZANE MWE & SEHIY g7 2,400
= 600
Al 1,800
207 AR 24,000 16,500 7,500
= 6,000
Al 18,000
03 A& 328 24,000 16,500 7,500
OEZdEE A & 225 7 24,000
= 6,000
Al 18,000
ASHACEZY 10,000 10,000
207 ARl 10,000 10,000
03 Al 2HI 10,000 10,000
OuZZEIAMN g & SSHE Al 1 10,000
E2s B SEAMY 8,800 21,200 12,400
= 4,400
Al 4,400
101 @124H| 6,000 20,000 214,000
= 3,000
Al 3,000
M IIRIMZZENSES 6,000 20,000 14,000
OJt=2h B2 ZA JIN224 oA
]l 6,000
= 3,000
Al 3,000
207 ARl 2,800 1,200 1,600
= 1,400
Al 1,400
03 Al &2t 2,800 1,200 1,600




M =28
3 sI=MHeE
Hel: A0 JIsESMY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJiEER Bl =5 SJIIE F4 2,800
= 1,400
Al 1,400
AXNEZZ #FHZH X2 (ZHSEE) 6,344 6,183 161
= 6,344
206 M=l 6,344 6,183 161
= 6,344
01 M= HI 6,344 6,183 161
OZ3AZ=M tetHIE AIEIIE &+ &S
g8 Wz 7Y 6,344
= 6,344
sASYHNE LAl X(HSEE) 142,000 180,000 38,000
= 71,000
Al 71,000
307 212+01& 142,000 0 142,000
= 71,000
Al 71,000
02 2IZHB A E & 142,000 0 142,000
OsZ28as Ladl X2 (Hsed) 142,000
= 71,000
Al 71,000
SH=YoE LMYl X (XHA) 468,000 460,000 8,000
307 @120l & 468,000 0 468,000
02 QI BHANEEX 468,000 0 468,000
OsH=gais bl X2 (XtA) 468,000
H OIAEEE AT HA 240,000 250,000 10,000
307 212+01& 240,000 0 240,000
02 B HAHE L 240,000 0 240,000
Ouf OI&=E8 MM X3 240,000
sHESgE ded =29 N 22,000 22,000 0
= 6,600
Al 15,400
101 @12A4H| 21,000 21,000 0
= 6,300
Al 14,700
04 JIZtN2 2N S 2+ 21,000 21,000 0
Ogdi=s EE 2x 2FY 21,000
= 6,300
Al 14,700
202 04l 1,000 0 1,000
= 300
Al 700
01 =LHAHI 1,000 0 1,000
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SN JE23D
M SHI|=oHY
Chel: MSEF20F JI=EsAtY (SH9 H2)
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
OS3HlL & JSAEEL 2 S, Al
N, Al & ARF 7Y 10,000
OH (SE &SMHUIAIS 3,000
TSsFe=E Xl K& 105,000 0 105,000
= 42,000
Al 63,000
307 2Iz2+0l ™ 105,000 0 105,000
= 42,000
Al 63,000
02 QIRHEAAIH B X 105,000 0 105,000
OZ=24= et el X3 105,000
= 42,000
Al 63,000
oD I=E2=SY SN2 522,080 342,400 179,680
= 93,000
& 100,000
Al 329,080
s A& ANE(ASES) 180,000 110,000 70,000
= 90,000
Al 90,000
402 CI2ERH=0IH 180,000 110,000 70,000
= 90,000
Al 90,000
02 QIZIRH2 AL 22 (01 & &) 180,000 110,000 70,000
OZE N3 E S&EE U=sH AOE &H
Il B2 AlY 50,000
= 25,000
Al 25,000
OAEUNT =&Al =ZHE 2N HE=
Jl= B= AY 80,000
= 40,000
Al 40,000
OLEMA AMSE HEMA D= AlY 50,000
= 25,000
Al 25,000
JIZHS TS Ot Unt AS3E AIE (HEALE) 100,000 0 100,000
& 50,000
Al 50,000
402 SIZERH=0I1H 100,000 0 100,000
& 50,000
Al 50,000
02 QIZEXHE A B X (01 &THE) 100,000 0 100,000
OJI=H3 S OrEU = AS3E AIY 100,000
= 50,000
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